
ANSWERS– VOLUME 2: EQUILIBRIUM 
Chapter 3, Cross-Sectional Properties  problem 3.30,1-2, page 144 
 

Last update: 18-10-07 

Remarks: See §3.3, pages 121 till 132 
 
Answers 3.30-1:  
 
a.  6 44 10  mmyyI = ×

b.  6 420 10  mmzzI = ×

c.  6 46 10  mmyzI = ×

 
Explanation 3.30-1:  
 
Dimensions in mm: 
 
a. { }3 6 41

12 6 200 4 10  mmyyI = × × = ×  

 
b. { } { }3 2 6 41

12 12 200 2 6 100 100 20 10  mmzzI = × × + × × × = ×  

  
c. { } 6 42 6 100 50 100 6 10  mmyz = × × × × = ×I  

 
 
 
 

 
Remarks: See also pages 109 and 129 
 
Answers 3.30-2:  
 
a.  6 475,4 10  mmyyI = ×

b.  6 418,9 10  mmzzI = ×
c.  0yzI =

 
Explanation 3.30-1:  
 
Dimensions in mm: 
 
a. { }3 6 41

12 10 2 400 75,4 10  mmyyI = × × = ×  

 
b. { }3 6 41

122 10 2 200 18,9 10  mmzzI = × × × = ×  

  
c.  I 0yz =

 
 


